SNS COLLEGE OF TECHNOLOGY 8 S
(An Autonomous Institution) waﬁ-fnrsrgﬁ/;fm

Coimbatore — 35
DEPARTMENT OF MATHEMATICS

UNIT-1lI PARTLAL DIFFERENTLAL EQUATIONS

- :)'(“‘"x L 2 52) 03 .
(bg _4‘_.4‘|(ﬂ<,D :,\'\}

IN
(7)

)P \ (7(
y (9*3°
ds
30y22%)
N, Y3 )

Y\fI.L(Qr(’(f‘) (QQ‘? (M.O,YY), 0) = C'

ohasse st 3o %

5 ‘xclMUCU* 750(% K
N (% 242 )ty 655 Xt 57042 2)

N Br=@

5 nre aduaydy +zz =0

= A ("Y,3) K Hy*3”= ¢ i
C lmC 0se _Ke (.ch! e ‘t’ f{ muk ( / ('”f) lM? ( L,Q ', m' o ok ) = ( ‘/’J\/ /lj, /a:>
=) ——L s 3— (Jy 4 J-~ cl m S

(52 f).} (o2 5J+L (y>» "

'S
o ¥,
AALY

’r:o
= N L dn «L(th4 “L({,j

= ¥ (oryh) = io/ w3 = Log <.
’)(Ué = Oy
Goneral ol & ¢ [x4y*z% ayz) =0 .

19MAT201/Transforms & Partial Differential Equations  S.Sindhuja/Ap/Maths/SNSCT Page -1 of 3




SNS COLLEGE OF TECHNOLOGY :m

(An Autonomous Institution) LTSI 15775

Www.snsgroups.com

Coimbatore — 35
DEPARTMENT OF MATHEMATICS

UNIT-1lI PARTLAL DIFFERENTLAL EQUATIONS

'SD,’VQ-’ @5—%)})} (1,2-«:‘35)‘1/: (Q%/_got ,
Gler\uuj {%(D}M' o _ dy _ d3

3%-4y  Ax-23  2Y-3
Chooge Jout Ak %) WM{FW’Y (L) = (Y,3)
D g yc)y»r(jd}

A = H
A(33-1Y)+Y (B -23)+3 (2Y-300

:> DY = O
= e X datydytrzdy -6

-
= 1![»1,3, 5) = A +Y 4 3% = C

(2,3.4)

Conidn the ofhes nl,ul“”ouﬂ'n U ',ﬂn',’n’)”

= Qdu%({/HKl’a _ k

831y )43 (- Qg)yn(:n/

(=

= Y =0
= NY! N AM 8 4(/4 Jp(lg; =0

__> '\.C(‘X'{l)': N+ 3 Y4 43 =0

. CUS‘CT] ['-‘ﬂ-ﬁ’rE{E%jl, o?f)t-rg'lj-f 145):0

19MAT201/Transforms & Partial Differential Equations  S.Sindhuja/Ap/Maths/SNSCT Page -2 of 3




NS COLLEGE OF TECHNOLOGY :jb

(An Autonomous Institution) LTSI 15775

Www.snsgroups.com

Coimbatore — 35
DEPARTMENT OF MATHEMATICS

UNIT-1lI PARTLAL DIFFERENTLAL EQUATIONS

ﬂl' 2 a i
Solve ! o {é'H)PJf H;(Q{_éjﬁ/ _ 52(43’1){)
Senesal o dw _ dy _ ds
3Y) Pla-z)  zayn)
Gorwidan 1T Jhstdek g mudbplior (4, m,n) = (Tj{a?;@
#dﬂfé'ﬁ)@"rdgf%‘z - k
Yt AF+Y-%
.-"—j Y =
= v dodyedg=©
> L3 F}%‘;{;ﬁ i
> Ul Y5 Kt G
Conpides e ofhex NU.LMP[LEE (ﬂ’,mf.n’_ - (éé{_{%)
'91«?0{”‘*?}0{%3&%

= &
'){(gﬂtﬂ)ftj (nxrgj-rz) (y-21)

= Dr:-o
= NY! a’aopot-}%ﬂ c{j+.él Ofé ~ 0

> vy 3)= Iog (ny3z) = dog o,
43 2%

%‘Sofnﬁ,cp (‘fw'?’gff{/g, Anyz) =0

19MAT201/Transforms & Partial Differential Equations  S.Sindhuja/Ap/Maths/SNSCT Page -3 of 3




